https://haryanajobs.in
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Candidate’s Roll Number
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Time allowed : 1 Hour 15 Minutes Total Questions : 80 Maximum Marks : 160
3af® : 1 ger 3k 15 Ade Fel 9T @ 80 HIT 37 1160

INSTRUCTION : Please check that OMR Answer Sheet No. and Question Booklet No. match with each other. If they do not match immediately replace

the Question Booklet and OMR Answer Sheet. Candidate should fill the correct Question Booklet No. in OMR Answer Sheet.
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KINDLY READ THE INSTRUCTIONS BEFORE ATTEMPTING THIS QUESTION PAPER
IMPORTANT INSTRUCTIONS FOR THE CANDIDATES

1. Attempt all the questions. Every question has equal marks viz. 2.

2. Before attempting the question paper kindly check that this booklet has total 20 pages & OMR Answer sheet consists of three copies. At the start of
the examination and within first five minutes, candidates are advised to ensure that all pages of your test booklet & OMR/Answer Sheet are properly
printed and test booklet is not damaged in any manner. Serial No. of OMR Sheet and Test Booklet match with each other. In case of any discrepancy
the candidate should immediately report the matter to the invigilator for replacement of test booklet & OMR/Answer Sheet. No claim in this regard
will be entertained after five minutes of start of examination.

3. Do not forget to write your roll number on the top of this question booklet & OMR/Answer Sheet.

Do not tear or fold any page of the question booklet and OMR/Answer Sheet.

5. Candidate must bring legibly printed Admit Card with recent coloured photo pasted on it at mark B duly attested by Gazetted Officer and one
identity proof with photo like Driving License, Voter Card, Aadhar Card, Passport etc. at the Examination Centre failing which candidate will not
be allowed to enter in the Examination Centre.

6.  Candidates are advised to make sure to fill the correct name, Roll No. & Q. booklet No. on the OMR Answer Sheet. If the space for the Q. Booklet
No. is left blank or more than one Q. Booklet No. is indicated therein and non-filling of name and roll no. as per instruction, it will be deemed to be
an incorrect Q. Booklet No. & Answer Sheet will not be evaluated. The candidate himself/herself will be solely responsible for all the consequences
arising out of any error or omission in writing the Q. Booklet No. Candidate shall put his/her LTI (Male) and RTI (Female) on attendance sheet, on
the OMR/Answer Sheet and on the Biometric Machine along with signature.

7.  Candidate should put his/her signature and thumb impression on the Admit Card attwo places in the presence of Invigilator in the Examination
Hall.

8.  Candidates are warned not to fold or make any stray marks on the OMR Answer Sheet. Use of Eraser, Nail, Blade, White Fluid/Whitener
etc, to smudge, scratch or damage in any manner on the OMR Sheet during Examination is strictly prohibited. Candidature/OMR Sheet of
candidates using Eraser, Blade, Nail or White Fluids/Whitener to smudge, scratch or damage in any manner the Answer Sheet shall be
cancelled.

9.  Candidates are warned not to carry handkerchief, any mobile phone, any type of watch, belt, wear ornaments like ring, chain, earring etc., electronic
or communication device, Pen, Pencil, Eraser, Sharpner and correcting Fluid in the examination centre. If any candidate is found possessing any
such item, he/she will not be allowed to enter in the examination centre. Candidate found possessing mobile phone and any other aiding material as
mentioned above in the examination room will be treated a serious violation and it will amount to cancellation of the candidature and debarring
him/her from future examination. Use of Eraser, nail, blade, white fluid/whitener etc., smudging, scratching or damaging in any manner the OMR
answer sheet shall lead to cancellation of candidature and such OMR answer sheet shall not be evaluated.

10. The written examination will be supervised by doing frisking before allowing entry into Examination Centre, using CCTV Cameras, Biometric
Attendance process by capturing the Biometric thumb impression and Photograph of the candidates during Examination, Videography and Jammers
etc. shall be used in the Examination Hall/Examination Centre to stop copying and impersonation etc.

11. Candidate's request to change the examination centre and seat in the Examination Hall shall not be entertained.

12. The scanned photograph of the candidate on his/her Admit Card or attendance sheet will be tallied with the candidate appearing in the examination
by the invigilator. In the event of any discrepancy in the identification and verification of the candidate and photographs, the candidate shall not be

&

allowed to sit in the examination and be liable for criminal prosecution.

13. The OMR answer sheet consists of three copies, the original copy, the commission copy and the candidate’s copy. Do not separate or displace them.
Do not darken the bubbles in three copies of OMR sheets separately. Candidate must handover the OMR Sheet without separating the three copies
to the invigilator at the end of examination. Invigilator will hand over the candidate’s copy after separating it. The candidates are allowed to take
away this Test Booklet with them.

14. Each question has four alternative answer of which only one is correct. For each question, darken only one circle, which ever you think is the
correct answer on the OMR answer sheet with only Blue/Black Ball Pen provided by the Commission. Pencil should not be used for darkening
the circle. If more than one circle is found darkened, that answer will not be evaluated.

15. No candidate shall be allowed to go to the toilet/washroom during first and last thirty minutes of the examination.

16. No candidate will be allowed to leave the OMR sheet blank. If any OMR sheet is found blank, it shall be crossed by the invigilator with his/her
signature and mentioning "Cancelled" on it.

17. Your answer sheet will be evaluated through electronic scanning process. Incomplete or incorrect entries may render your answer sheet invalid.

18. Carefully fill in all the necessary particulars on the answer sheet. Change of answer sheet is not permitted.

19. While darkening the appropriate bubble(s) in the boxes darken the chosen bubble(s) fully as given below. If you darken more than one circle, your
answer will be treated as wrong and such answer shall not be evaluated.

CORRECT METHOD / 771 & WRONG METHODS /7T s

o] _lo]o)] OFOE OROO OO AEOO

20. If a candidate does not comply with the instructions as mentioned above or creates any kind of indiscipline, the Commission shall take action as per
instructions and in addition can also debar the candidate from appearing in the Examination, to be held in future and can also file criminal
proceedings.
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Which Indian player has won the silverlr#eL a |rillolald’rﬁl|#1t¥>ﬁlllnlﬂydk/)r%|5ilcl£016?
(A) sakshi Malik (B) Sunil Narayan
(C) Saina Nehwal (D) P.V. Sindhu

o IRIT RS o SsffesT # Rio (R 3afagew 2016 F IS0 9eah ST g7

(A) Fmelr Afers (B) gfler AARTIoT

(C) T gareT (D) drdr. T8y

HDI stands for

(A) Health Department of India (B) Human Development Index
(C) Human Development Institute (D) Health Development Institute

HDI &7 31T R g ?

(A) Health Department of India (B) Human Development Index

(€) Human Development Institute (D) Health Development Institute

Who has won The Man Booker Prize of 20167
(A) Amitav Ghosh (B) Paul Beatty

(C) Chetan Bhagat (D) Nadeem Aslam

2016 1 HeT §o TEPR Ty Sl & 2
(A) 31T Oy (B) ofeT S

(C) AT 91T (D) FHEH A

India is situated north of the equator between
(A) 8°4'to37°6' (B) 10°4'to 25° 6'
(C) 11°4'to57°6' (D) 5°4'to27°6'

AR AT & 3R AT H oot 370 & S & AT § 2
(A) 8°4' & 37°6' (B) 10°4' & 25°6'
(€ 11°4 & 57°6 (D) 5°4' & 27°6

Which state has launched Lakshya Bhagirathi Campaign ?
(A) Gujarat (B) Odisha

(C) Chhattisgarh (D) Arunachal Pradesh

forer T o T AR AT P I FE ?
(A) IR (B) 3nf3em

(C) & eTe (D) 37U HeRT

Question|ld : 1

QuestionId : 1

QuestionId : 2

Question Id : 2

Questionld : 3

QuestionId : 3

Question Id : 4

Question Id : 4

QuestionId : 5

Question Id : 5
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The Indian Medical Council (Amendmelnltsléﬂad é ,&!JXcgr”eg-lNLl{h)b'l !

(A) Provide medical education in state languages

(B) Uniform entrance examination for admission to all medical education institutes
(C) Licence of Medical shops

(D) None of these

AR FAfecar aitwe, (GiiesT) At 2016 fadr gefia § 2
(A) T & A3 7 Rfhcar R8T Yered e |

(B) @i Rifercar R I # i@l & folv TergdTT YaRr g
(€) fafehcar gl &1 Srgad
(D) =18 & IS 7T

Arrange the words given below in a meaningful sequence:

(@) Elephant

(b) Whale

(c) Dog

(d) Tiger

(A) (b), (a), (d), (c) (B) (a), (b), (d), (c)

(€) (b), (c), (d), (a) (D) (d), (a), (b), ()

o faU 31T Qreal s 31AYUT shA I AT I

(@) @

(b) &

(© =

(d) sm=

(A) (b), (a), (@), (c) (B) (a), (b), (d), (c)

(€ (), (©), (d), () (B) (d), (a), (b), (c)

Find the missing term.
1125297

(A) 870 (B) 866
(C) 588 (D) 576

grcrqaamﬁﬁrtrl

1125297
(A) 870 (B) 866
(C) 588 (D) 576

Question Id : 6

Question Id : 6

Questionld : 7

QuestionId : 7

QuestionId : 8

QuestionId : 8
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9.

10.

10.

11.

11.

12.

12.

eI

Which cube matches the given?

(A)
t5s
W

HleT T GeT T 3T J AA W § ?
s

&

If SIDE=26-16-11-12 then ROLE=?

(A) 24-22-18-12
(C) 25-22-18-12

(€)

(€)

Ifg SIDE=26-16-11-12 @ ROLE="?
(A) 24-22-18-12

(C) 25-22-18-12

Complete the series.
6, 8,12, 20, 36,?
(A) 66

(C) 63

Ao oo A |
6, 8, 12, 20, 36,7
(A) 66

(€) 63

fhon e ] hhe 1n
HUpS.//tiat ydlidjUus. 111

(B)

i
i

(D)

(B) 25-22-19-12
(D) 24-23-19-12

(B) 25-22-19-12
(D) 24-23-19-12

(B) 58
(D) 68

(B) 58
(D) 68

If A={3,4,5}, B={5,6} and C={6,7,8}, find n[ A x (B ~ C]]

(A) 5
(C) 4

(B) 3
(D) 2

e A={3,4,5}, B={5,6} 3ik C={6,7,8}, ar n[ A « (B ~ C)] Fd T |

(A) 5
€ 4

(B) 3
(D) 2

QuestionId : 9

Question Id : 9

QuestionId : 10

QuestionId : 10

Question Id : 11

Question Id : 11

Question Id : 12

QuestionId : 12
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13. The largest 4 digit number exactly divisible by E!ls: y J )
(A) 9944 (B) 9768
(C) 9988 (D) 8888
Question|d: 13
13. 88 ¥ QUI: TaoIo |y 98 IR (4) 3FhT & §&A §
(A) 9944 (B) 9768
(€) 9988 (D) 8888
Question|d: 13
14. The product of two numbers is 4107. If the H.C.F. of these numbers is 37, then the greater number is
(A) 101 (B) 107
(€) 111 (D) 185
Question|d: 14
14. & TEAHT &0 AUGReT 4107 § | (S ST HEAIIT 1 HgadH FAMAH 37 &, of 957 & §
(A) 101 (B) 107
(€ 111 (D) 185
Question Id : 14
15. The difference between the length and breadth of a rectangle is 23 m. If its perimeter is 206 m, then its area is
(A) 1520 m? (B) 2420 m?
(C) 2480 m? (D) 2520 m?2
Question|d: 15
15. Ueh 3T HT oldls 0l T & 23 m & 3R ¢ | I 395 aRf 206 m &, ar 3T &%l gam
(A) 1520m?2 (B) 2420m?2
(C) 2480m? (D) 2520m?2
Question|d: 15
16. It takes eight hours for a 600 km journey, if 120 km is done by train and the rest by car. It takes 20 minutes more, if
200 km is done by train and the rest by car. The ratio of the speed of the train to that of the car is:
(A) 2:3 (B) 3:2
(€) 3:4 (D) 4:3
Question|d: 16
16. 600 fhelr  TW H 8 TUC oI §, Il 120 fhell & T U ahr 1 I dR & oI foear s | 3feg 200

forall ¢oT & AT a1 T T FR F el W 20 Aee M0 oora § | o @ aifd & R &7 arfl & 3regra

&
(A) 2:3 (B) 3:2

(C) 34 (D) 4:3

Questionld : 16

Page: 5


https://haryanajobs.in

17.

17.

18.

18.

19.

19.

20.

20.

0

4
L
e

3-5

fom o IIL. ......... L\A :
The age of father 10 years ago was th lt ebaglel ][%ll +c#r| ars
son. The ratio of their present ages is

(A) 5:2 (B) 7:3
(€) 9:2 (D) 13:4

s
0O

i e father's age will be twice that of his

QuestionId : 17

10 a¥ ggor O &7 31”7 3197 93 & 3 9 & | g & 10 a¥ ae, T & 3G g7 & 30 ¥ I g |
3oTehT STAST 3T T mqm [
(A) 5:2 (B) 7:3
(€ 9:2 (D) 13:4

QuestionId: 17
In a regular week, there are 5 working days and for each day, the working hours are 8. A man gets X 2.40 per hour
for regular work and X 3.20 per hour for overtime. If he earns X 432 in 4 weeks, then how many hours does he

work for?
(A) 160 (B) 175

(C) 180 (D) 195

Questionld: 18

o fAafAa aeaeg &, 5 FF g § aur 93 6 & fov &1 a7y 8 gue § | o fad & Haf@a &3
& forw T 2.40 9far guer dor 3iaR-esdA & fov T 3.20 Ui guer 9Ied giar ¢ | If¢ a8 4 g%l 7 T 432 ured
R &, A 38T ey Tue I 3 g ?

(A) 160 (B) 175
(€) 180 (D) 195
QuestionId : 18
Electrolysis of water produces hydrogen and oxygen in the ratio
(A)1:2 (B) 1:3
(€ 2:1 (D)3:1
Question|d: 19
el T Teger-31Tees TR 3Tl 3 §Isgiotel 3R JHiRiolet 1 Sciice] ol & ?
(A) 1:2 (B) 1:3
(€ 2:1 (D) 3:1
QuestionId : 19

Which gas is generally liberated when acid reacts with metal?
(A) co (8) co,

(€) No, (D) H,

Question Id : 20

S U8 e & A JTRIHA aRC § A9 QAT el 8 3G Herel gl § 2
(A) CO (B) co,
(€) No, (D) H,

&

Question Id : 20
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21.

21.

22.

22.

23.

23.

24.

24.

https:/fharyanajobs:in
Digestion of food in human starts from M- y J )
(A) duodenum (B) small intestine
(C) mouth (D) large intestine

AlTd 7 sl & GreeT el & Y& Bl & 2

(A) gl (B) B I
(© 3 (D) & 37t
Which part of plant involves in Translocation?

(A) Phloem (B) Xylem

(C) Cortex (D) Pith

gl & T AT TFEAT TR H AT § 2
(A) e (B) Sseid

(C) wcaT (D) AT

When a ray of light enters a transparent medium it undergoes change, it is
(A) Frequency only (B) Wavelength only

(C) Wavelength and velocity both (D) Velocity and frequency both

ST YT 1 0T qReRlt AT F UoRT Al § o 39 Seaa/aRadeT AT g | 9g R g ?

(A) Sder 3rgfar (B) heel TRIIGE

(€) e 3k &t at (D) T 3 3Ry Qe

The magnification of an object placed 10 cm from a convex mirror of radius of curvature 20 cm will be
(A) 0.2 (B) 0.5

(€)1 (D) infinity

Teh A 20 H il TS dTel 3eer G¥oT & 10 Jof g W& 918 § o 36 3aseT gham
(A) 0.2 (B) 0.5

() 1 (D) 3fcfed

Question Id : 21

Question Id : 21

Question Id : 22

Question Id : 22

Question Id : 23

Question Id : 23

Question Id : 24

Question Id : 24
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25.

26.

27.

28.

29.

ENGLISH LANGUAGE

Pick up the word from the choices which is close to opposite (antonym) to word asked :

Swell
(A) Strange (B) Diminish
(C) Sympathy (D) Enlarge

Pick the word from the choices which is close to similar (synonym) to word asked :
Shallow
(A) silly (B) Abtute

(C) Superficial (D) Soft

Pick one word for the following expression :
A professional rider in horse races
(A) Joey (B) Jargon

(C) Jockey (D) Junta

Choose the alternative which best expresses the meaning of underlined idiom/phrase.

The old father brought home the moral of unity by asking each of his sons to break the bundle of sticks.

(A) Voiced (B) Declared
(C) Emphasised (D) Suggested
Let’s play volleyball.

(Fill in the blank)

(A) no article (B) the

(€) a (D) an

Question Id : 25

Question Id : 26

Question Id : 27

Question Id : 28

Question Id : 29
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30

31.

32.

33.

34.

35.

| N Ay I | P -y P Ty
lILL[Jb.III.IdIydlldJUUb.Ill
B amwr
. TAEET QA T AT QI8 §
(A) g & foT = (B) S F W
(C) WS & =X (D) @S 3R =
TP UAsE & AT §
(A) fTORERR (B) 3UER
(C) 3% (D) ey
AR A H 39T §
(A) 371 (B) 3f
(C) 37r (D) 31T

€ & g H ST - cheplfad & 3§

(A) 3 & &g & S g

(C) YT =T

379 Teld § - H AT T §

(A) eI ST ST |

(C) 31 el ST |

S B FS SAdT § - e F v e g §
(A) TaaT

(C) SR

(B) 3c = IiRT Qe
(D) st 2t

(B) Iy § |
(D) 33 T § |

(B) 3feq=T
(D) JArar

Question Id : 30

Question Id : 31

Question Id : 32

Question Id : 33

Question Id : 34

Question Id : 35
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36. Which state of India bagged the Best I-|o uEu're gga e war(J.F'J )
(A) Haryana (B) Odisha
(C) Rajasthan (D) Guijarat
Question Id : 36
36. S glichotl T & TERR HRA & fohdy To ol [He?
(A) gimom (B) 3ifsem
(C) Tt (D) IGRIT
Question Id : 36
37. In which of the following division of Haryana most districts are there?
(A) Ambala (B) Gurgaon
(C) Rohtak (D) None of these
Question Id : 37
37. g % fFE FAsa & Tt Ser 82
(A) 37aTe (B) I3t
(€) Jgasw (D) 57T & FIS AT
Question Id : 37
38. Who is the Home Minister of Haryana?
(A) Ramvilas Sharma (B) Captain Abhimanyu
(C) Manohar Lal Khattar (D) Rao Narvir Singh
Question Id : 38
38. GRATOT T g FA FieT &2
(A) TATIETE LT (B) sheeey ey
(C) HAEY ool WX (D) Tg AR g
Question Id : 38
39. Who is the present Chief Justice of Punjab and Haryana High Court?
(A) Sanjay Kishan Kaul (B) A.K. Sikari
(C) Jasbir Singh (D) s.J. Vazifdar
Question Id : 39
39. Yol 3R gRATOT 3o ~AeT % diHle HET THIeT Fief §?
(A) T/ fomieT sler (B) . AR
(€) SEeR g (D) TH.SN. afSwmerR
Question Id : 39
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40. Match the lists and choose which of thleI 0 W|ﬁlglc!;;t%ln scc‘cl)rlr%' L:)Ub'II !
List-1 List-11
1. Rakhigarhi a. Regal Crown
2.  Kunal b. Ploughed Fields
3. Banawali c. Largest Indus valley site
(A) 1-b, 2-a, 3-c (B) 1-c, 2-a, 3-b
(C) 1-a, 2-b, 3-c (D) 1-c, 2-b, 3-a
Question Id : 40
40. g &1 e A AR et & § a8 fadew & o9 AT
Hjﬂ-l Hjﬁ-ll
1. T@EET a. 9Tl 3T
2. FoOT b. ST g3 &
3. delden c. T w37 Y e Tl
(A) 1-b, 2-a, 3-c (B) 1-c, 2-a, 3-b
(€) 1-a, 2-b, 3¢ (D) 1, 2-b, 3-a
Question Id : 40
41. Sufi Saint Boo Ali Shah Kalandar was born at
(A) Panipat (B) Thaneswar
(C) Hansi (D) Kaithal
Question Id : 41
41. N T F 30l ATg Folek H ST g3TT A
(A) 9regT (B) TR
(€) g (D) Ferer
Question Id : 41
42. Where is Bhima Devi Temple Complex situated?
(A) Kurukshetra (B) Hisar
(C) Pinjore (D) Rohtak
Question Id : 42
42. 39T A AR FlrcoTry Fal T §?
(A) T8 (8) ReR
() TSR (D) Jgcdh
Question Id : 42
43. Chhilchhila Wildlife Sanctuary is located in which district?
(A) Kurukshetra (B) Ambala
(C) Gurgaon (D) Hisar
Question Id : 43
43. BT 3w Mg 3ARVY fFa S 7 ua &2
(A) e (B) 3faTeT
(€) peifa (D) &R
Question Id : 43
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44.

44,

45.

45.

46.

46.

47.

47.

48.

48.

httns://haryanajobs:in
Which city was renamed after “Guru Dron ar'ya'l?I y J )
(A) Ambala (B) Gurgaon
(C) Kurukshetra (D) Sonipat

I QO % A & R T H G AHROT 32

(A) 3rFaTeT (B) Ilia

(€) Fer (D) Hiaa

Who is the most popular Ragini Singer of Haryana, also known as ‘Surya Kavi'?
(A) Pt. Lakhmi Chand (B) Kishan Lal Bhat
(C) Manish Joshi Bismil (D) None of these

g ¥ wdifter yffqy affeh e #i § o8 g i3 F o & o SeTr St g2

(A) 4. o Ie (B) foRRTeT oiTel #IC
(€) FA el RfEer (D) 387 & HIS =Ft
Headquarters of Western Command of Indian Army is located at

(A) Hisar (B) Chandi Mandir
(C) Panipat (D) Ambala

HRA e & ol SHis o FEoT 78ud §
(A) fgaR (B) =TSt Al
(C) g=aT (D) 37FaTeT

BILT Football stadium is situated at

(A) Kurukshetra (B) Sonipat

(C) Ambala (D) Yamunanagar
BILT Pesiel Tef3as e &

(A) e (B) @ua

(C) 3tearem (D) IHAFR

Who is famous humorous poet of Haryana?

(A) Pt. Neki Ram (B) Pt. Lakhmi Chand
(C) Surender Sharma (D) Pt. Shri Ram Sharma
g S 9fAgY e T FHid HeT 82

(A) 9. & IH (B) 4. or@# g

(€) gl o= (D) 9. SR T

Question Id : 44

Question Id : 44

Question Id : 45

Question Id : 45

Question Id : 46

Question Id : 46

Question Id : 47

Question Id : 47

Question Id : 48

Question Id : 48
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49.

49.

50.

50.

51.

51.

52.

52.

53.

53.

TR 1 R P
Who had set the Feudal League in Ha {/ rlle’)b ftatyai IdJUUb ” !
(A) Sir Chhoturam (B) Neki Ram

(C) Pt. Sushil Sharma (D) None of these

gRATOT F RIS (SMEMRE) olieT S TG Ty 2

(A) T BIH (B) =¥hr I

(C) d. gRfrer AT (D) 19T & FIS T

Which districts of Haryana are chief producers of Turmeric?

(A) Hisar and Rohtak (B) Ambala and Yamunanagar
(C) Panipat and Kurukshetra (D) None of these

gRAOT & geT & 97E 3culesh ol &

(A) RER 9 Agdshr (B) 37Tell T JHATR

(C) UelTd & FHearT (D) 303 § IS AT

Bronze medal winner of Rio Olympics 2016 Sakshi Malik was born in which village of Rohtak?
(A) Mokhra (B) Bhansru

(C) Sudana (D) Siwana

ﬁﬁrmaquwzoma?rmwﬁmw&ﬂﬂﬁmﬂmﬂmé:ﬁmm#gww

(A) FrET (B) sTH%

(€) Ferm (D) TaarT
In the First Battle of Panipat Ibrahim Lodi fought against

(A) Akbar (B) Humayun
(C) Babur (D) Hemu

AT < SRIA JeuT H SeifeH dlar forden faeawr ofsr ar?

(A) 3R (B) gAY

(€) SR (D) &Y
Famous singer Sonu Nigam was born in which district of Haryana?

(A) Ambala (B) Rohtak
(C) Kurukshetra (D) Faridabad

Sficer I Hiey 0T 1 S g & fohw fSier 71 g3m?
(A) 3rTeT (B) Jgcieh

(C) eer (D) wiieTsie;

Question Id : 49

Question Id : 49

Question Id : 50

Question Id : 50

Question Id : 51

Question Id : 51

Question Id : 52

Question Id : 52

Question Id : 53

Question Id : 53

Page: 13


https://haryanajobs.in

54.

54.

55.

55.

56.

56.

57.

57.

58.

58.

R TIR  RPPRE Py AU
In which one of the following places Ka pl)gHaJafalvlv'alﬁalnsyb%‘rlnl?dJUUb'” !
(A) Karnal (B) Panipat
(C) Faridabad (D) Gurgaon
Question Id : 54
el IIdell T SleH ﬁmﬁr@aﬁr@rﬁmmwgaﬂw
(A) eTer (B) dr=iad
(C) wlemEe (D) et
Question Id : 54

‘Vande Matram Yojana’ is associated with
(A) Soldiers (B) Farmers

(C) Women (D) Freedom Fighters

Question Id : 55
'Foc, FIRA Alotell FH T g
(A) 3fr & (B) foramir &
(C) wfgemsit & (D) T el &

Question Id : 55
During examination of the abdomen auscultation should be done prior to percussion and palpation because these
procedures may
(A) Alter the bowel sounds. (B) Alter the secretions of abdomen.
(C) Alter the distention. (D) Alter the presence of fluids.

Question Id : 56

Y & GUBTUT & SR IRHEUT & &Ry Era/dRdassT 3R aRewT & wger far s onfge =ifes ag gfsane

(A) 37iT T 3Tt Seol &l § | (B) 9 % 91T o & § |
(C) elra i SeoT &t Bl (D) Rel Terdy A 3uRRAUT 7 sgena o B
Question Id : 56
The one of the side-effects of anti-biotics which may cause the malabsorption syndrome is
(A) Changing the normal food intake. (B) Changing the normal flora of the intestine.
(C) Changing the normal intake of fluid. (D) Changing the normal structure of the intestine.
Question Id : 57
Ufeearifee &l hisl AT goTed TERINOT HORTUT T HRUT ol Fehell &7
(A) AT HISTT AT S AT SGelell (B) 37id &I THT FelT Seolch ¢ |
(C) TR 9T & FaeT H AET SGoledl (D) 3id & AHT TTAT Sgelell & |

Question Id : 57
During the tonic clonic seizures the tonic phase is characterized by
(A) stiffening of the body (B) Jerking of the extremities
(C) Loosing consciousness (D) Confusion

Question Id : 58

aife Feiifas 3fHIET F SRieTr Afad TRoT &1 F=r R0t B2
(A) eRR 378 ST gl (B) STIEAT T SHeahed]

(C) <cfetr @ieTr (D) & & f&ufd

Question Id : 58

Page: 14


https://haryanajobs.in

)
T

Au-- PPy

59.

59.

60.

60.

61.

61.

62.

62.

63.

63.

I ddin -
The classic manifestations of the Parkin érlml'é) |s | gl ydi IdJUUb ” !

(A) irritability, bradykinesia and seizures (B) irritability, bradykinesia and rigidity
(C) irritability, bradykinesia and tremor (D) tremor, bradykinesia and rigidity

Question Id : 59

qihedeT 9T T 3epsT AHcafer e A& &2
(A) e, A MRS god-ade 3R 3f@agor  (B) RsREma, A ahiRe gaa-ads 31 FoRar

(€) REREHs, A MAINFE geld-geT 3R FHe (D) &9, HAg MANF golA-Teled, FARA

Question Id : 59
The point at which the nerve impulse is transmitted from one neuron to another is called as
(A) Glia (B) Myeline
(C) Nodes of Ranvier (D) Synapse

Question Id : 60
ue Rig STt W AT 30T T W S R & qEd e R FROT A ¥ 3 T |
(A) Felr3m (B) FmsforeT
(C) =R & s (D) fA=cH

Question Id : 60

The nurse should explain to the patient with ostomy that the blanching and dark red to purple colour of the stoma

may indicate
(A) Visible stoma mucosa (B) Anemia
(C) Inadequate blood supply to the stoma or bowel (D) Obstruction to the stoma.

Question Id : 61

I F W A T F TS FeT AT o TAT H Udelaor 3R @Y offed T TSI T[T H e
e Tohd 872

(A) T2AET F@h FgHiar (B) wehfaar
(C) H@H A1 3T T IoAreeT Tl 3Tfed (D) F@h I arem
Question Id : 61
Out of the following, the clinical skin manifestation of the cirrhosis of liver is
(A) Palmer erythema (B) Face erythema
(C) Neck erythema (D) Shoulder erythema
Question Id : 62
fart #F & Fla W o & T & Aciaes caar fdcafFT g2
(A) AT IR TFaaT (B) T i AT
(C) ICeT TR T (D) TR caam i
Question Id : 62
A thin, smooth layer of fibrous membrane that protects the kidney is called as
(A) Cortex (B) Medulla
(C) capsule (D) Bowman'’s capsule
Question Id : 63
T Iel, WER Fell H Ao Rl & $r B FHh & 3 FE &l
(A) i (B) HsaT
(C) Seger (D) ST Heger
Question Id : 63
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64. If the patient with acute kidney injury m%’c e ACE it J"ghe Rufse should cautiously monitor for
(A) Serum potassium level (B) Serum phosphate level
(€) Serum magnesium level (D) Serum copper level
Question Id : 64
64. A& & H X A arer W ACE HeAH/SOECE oIl & aF o i Fauel ¥ frd W foret el
ifgu?
(A) ErR# dieRTA &R (B) ¥R wIEhe &R
(C) ErRF FIARTA TR (D) IRA PR TR
Question Id : 64
65. The anaemia occurs in patients with chronic kidney disease due to
(A) Decreased plasma osmolality (B) Decreased plasma osmolarity
(C) Decreasd erythropoetin production (D) Decreased renin production
Question Id : 65
65. 31 o shlfaien/SNOT Il 7 TohfAr fohg asfe & el 872
(A) T TolreaT Aterefads (B) wech g% ol JiEHIIRE
(C) ereaT g3 TSt 3cdmesT (D) AT & 3cuieeT H A
Question Id : 65
66. During the physical examination of the patient for endocrine system, diminished axillary and pubic hair may
indicates the problem of
(A) Cortisol deficiency (B) Hypothyroidism
(C) Hyperthyroidism (D) Hyperparathyroidism
Question Id : 66
66. TGl ol & forw W & eI TdToT % STt A FaTadr 3R ST arer fohe @A &t 3fd a=a g7
(A) FfeHT Fr HAT (B) gEMRRIERSH
(C) gRURRIEEH (D) ERRRRRRIEEH
Question Id : 66
67. Diabetes insipidus is caused by
(A) decreased production, secretion of thyroid hormone
(B) decreased production, secretion of insulin
(C) decreased production, secretion of parathyroid hormone
(D) decreased production, secretion of anti diuretic hormone
Question Id : 67
67. AYNE SAATISH fohd HROT gieTr 872
(A) aRRSs gEAT % 91a, 3caieeT 7 FA (B) SgToleT % WG, 3cUieat & el
(C) IWIRRTSs gl F FE, 3cUiesT 7 e (D) & sRRfesh @Il % dra, 3cieet 3 Fer
Question Id : 67
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68.

68.

69.

69.

70.

70.

71.

7.

https/fharyanajobsin
The spongy bones are called as M- y J )
(A) Endosteum (B) Cortical
(C) cancellous (D) Ostones
TS gf3sar A T FEd 87
(A) 3drEdemer (B) doshe
(€) gfR (D) 3T

A sprain may be defined by
(A) injury to bone

(B) injury to ligamentous structures surrounding a joint

(C) excessive streching of a muscle, its fascial sheeth or a tendon

(D) injury to joints

A o foReR garT aRenfa fRar ST FehT §7?
(A) gz&r 7 dic

(B) HEr & AU T T & die
(C) P Fr 37cafew R&ara, ST TAUee 3Tog A T |
(D) &fYr & dic

Spontaneous abortion is
(A) Natural loss of pregnancy before 20 weeks of gestation

(B) Natural loss of pregnancy after 28 weeks of gestation
(C) Loss of pregnancy due to medications before 20 weeks of gestation

(D) Natural loss of pregnancy after 22 weeks of gestation

SATIR/EId: NI T &2
(A) 7Y 3 20 HCAE TgoT IHEAT HT Ahfcieh oJehdllet

(B) 1Y % 28 HCAE & &G IHGEAT N Whicleh Johalet
(C) Y 3 20 FeCAE & Ul IHEEAT T ZaIHT & HROT Fehdle
(D) 1Y & 22 Wecllg & de I & Upicleh Ffehdllet

The genitourinary clinical manifestations of estrogen deficiency is

(A) Hot flushes (B) Urinary tract infection

(C) Atrophic vaginitis (D) Dilated cervix

TEISToT &1 AT &I Siofoldfd sletioich Jifreafercar it & &2

(A) I gemaeT (B) ¥ HET 7 HehAT

(©) w2t AR (D) ¥ g

Question Id : 68

Question Id : 68

Question Id : 69

Question Id : 69

Question Id : 70

Question Id : 70

QuestionId : 71

Question Id : 71
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72.

72.

73.

73.

74.

74.

75.

75.

[T TP I | AP

The National Rural Health Mission was IIlauL chbecﬂ){/ l&){/ rnmeﬁyé’lgpt?a

(A) 7th April, 2005 (B) 12 th March, 2005
(C) 12 th April, 2005 (D) 12 th May, 2005

HRAT TR SaRT TSET AT Ty AT el Y& fohar Ir?
(A) 7 38¥eT 2005 (B) 12 AT 2005

(C) 12 314 2005 (D) 12 &g 2005

The responsibility of the nurse in primary nursing care model is
(A) Providing care to patient or group of patients for a period of time

(B) Providing care to patient or group of patients during assigned shift
(C) working as team leader

(D) assisting in work of team leader

TR AT @ Aiser F A N G =T §?
(A) T a1 AR F Fog A o GAT Y 3 F AU SEHS YT |

(B) @Iy a1 ordy & et el 2 AT o Tog Y SIS el e |
(C) o & ol & & H HH |
(D) Eof % oIl & ST H TEIAET el |

According to Nightingale’s definition of Nursing, which of the following activity is nurse’s function?
(A) Providing the sponge bath to bed ridden patient.

(B) Providing antipyretic drug to the patient who has intermittent fever.
(C) Diagnosing the underlying pathophysiology of disease.

(D) Performing the lab tests of patients for cause of disease.

ARG $r R A ARSI ¥ ITER PR AR F ¥ HleT & 1 P §?
(A) SEREIRET W A TeT ST YeTeT el

(B) T3l SaX arel #AJST & SRS &aT YeleT aeT|
(C) A o AR FPa-RR TshcHe foieret
(D) T F FRUT F T AJST T TAIRMT TRABTT AT

Gerontology nursing deals with
(A) Care of patient with genetic problems (B) Care of older adults

(C) Care of patients in community settings (D) Care of patients with terminal illness

SRR (SREesN) AT e Fafd 30

(A) 37T FHE drer AT Hr c@erer (B) geer qTwehl 1 S@Ier
(C) FHer sgaed H A & Swrer (D) oISelrsl AR arer AT hr G@atTeT

QuestionId : 72

Question Id : 72

Question Id : 73

QuestionId : 73

Question Id : 74

Question Id : 74

Question Id : 75

QuestionId : 75
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76.

76.

77.

77.

78.

78.

79.

79.

a4 /]
The regeneration during the healing procesEJcanll:{e' é%%'r%cf" IdJUUb ” !
(A) Replacement of lost cells by connective tissue (B) Replacement of lost cells by mast cells

(C) Replacement of lost cells by same cells (D) Replacement of lost cells by white blood cells

QuestionId : 76

Yelolelel ohl T 3T 3 Hishal & SRIeT foher o aReniSa femam Sream?
(A) TS 3cieh @RT AT 81 Yol PIRIFIB T HfTerdeT

(B) HAREE SITRAHT GaRT 1M &1 el HIRAFIS T HfTEdeT
(C) T HIRAHT G@RT RN &Y Fehr PIRAAIIT T AU
(D) <&eT YercT IR GaART 1T &Y YT PIRIAIIAT T FEATTeT

QuestionId : 76

The term autosome is defines as

(A) A chromosome that is not a sex chromosome (B) A chromosome that is sex chromosome
(C) Allthe DNA contained in an individual (D) The basic unit of hereditary information
Question Id : 77
IR e S SAA T el 2
(A) Teh IR Sir fofar o =F g (B) Teh R Sir fofar JUrg Bl
(C) T DNA T =i #F gifor (D) SRIFFIT STHRT & 3R SHS
QuestionId: 77
The cell mediated immunity is defined as
(A) Encounter of pathogen by B lymphocyte (B) Recognition of specific antigen by T cells
(C) Recognition of pathogens by neutrophills (D) Recognition of antigens by mast cells

Question Id : 78

PN FEILATT GFAET A F IR Far Siar g2

(A) B foiFpIarse caRT WTokieh & T HSHS (B) T =IfRrerr garT fafrse Sfdster & ggard
(C) ~ggrhrew ZarT JIMUBAT g (D) AR HITRAHT GaRT TEISTT S Tgale]

Question|d: 78
Oncotic pressure is defines as
(A) Osmotic pressure caused by plasma colloids in solution

(B) Force within a fluid compartment
(C) Force outside the fluid compartment
(D) Osmotic pressure by electrolytes in cells

QuestionId : 79

3AehITesh & I aiRemT
(A) &YT H TAIGHT FISS HT dolg T YeT BT RIROT g1

(B) TRl 9T & 91T & MK g
(C) R 9T &F UH F IK &
(D) FITAFT H SolcIclse HI dolg T WRRT &

Question Id : 79
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it et arramaialbe b
80. In which respiratory condition, you willlf'llr%é be'p{alryd%‘}iééﬁéslﬁlja oun?'II !
(A) Atelectesis (B) Respiratory distress
(C) Tension pneumotorax (D) Flail chest
Question Id : 80
80. ¢gHeT T HleT A1 UfT 7 Wisiforaerer @aet fHerm?
(A) TeoEad (B) Y& f3weH
(C) & AR (D) Ferer A
Question Id : 80
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10.

11.
12.

13.

14.

15.

16.

17.

18.
19.

20

I TR I ol Y 3R U U & fow ReiRa 3w g\ g 2 §
TR N Fol e H Uge FIAT Sirer of foh GRET ¥ Fel 20 56 3R T OMR 3R gk el IOl arell & | 3000 & Fellg & Sl ¥ T
TR 9RE BT € i fReie & 3R AT a o o e gRae 3R OMR 3R ek & ol Iva 3l e oW gU ¥ 31K 53 el o 9ohR &
& 7 Tg & | OMR 3 U5h U9 e Fohore (JRiehl) & AR o1 Th-Tt gt =g | ol o v & faworfd o oy o) 3wl &
aReerh ¥ TFe gohelc IR OMR 3R 3k seoial oll =T | qeT JReT glet o o Aefe geere & g w faar 71 fmar S |

39 gRETR 3R OMR 3R 9k & 39X 370l Aol R Togetr o7 7 |

we-gReTe 3R OMR 3R o9 o R o gos & o o w15 3i o1 A |

3TN A TISC TN FRITT T &, O W g & F Wier T T Wi 38 W )R Ruew @i iR St Bmgw%’lwqﬂaaﬁr
Rl ot 3T gaRT GAITOIT glefl MRU | 38 JMfciRerd PIeT ST §31 Uoh URea-oe, SR o Sisfaer oigdied, Fderdr IRee-ad, 3R
FE, qrHAE MM H & FE Tk GqeT-dheg W AT AT § | 53 o gt o 300l o ofew-ahess F T A Ay 8 & Swee |

3 F Fole & Sk § F T gRARET W of R 3% OMR 3-09& #7 a9, I 1. 3N golc 7. WY o1 § | I goore . & oo fear
I T Wrell BNST Sl § A Toh & 3Hh geore o1, forg 8w a1w § a1 Tdigar & 3k Jer 7R g7 oR 910 § o 38 IToicd s & 8R7 I/
FHoIC of. AT ST 3R SR-THF H Hodidet g1 o ST | gohole of. foreer 7 el o v & IR o o gt X 3wl & & oRomat
I $TT o TAIU SRErr grem | qew-30l 31e ATC BT o IS A 3N ARI-3Al o ¢ g1y & IS W 3iehed uTRUf-uER W/, OMR 3R
gaeh W IR ardfes FRi 7 &1 3R 3T T W) gEaeR 6 T |

adreT-gier 37 aRdieTs & 3ufRafa 3 3nafE o gaeraT W & RAE 7 R FE § AR WS F e & E

IR & Jareew & S § R T OMR 3T 3 oy of v 1 Jiiiaeass foRret o St 3R & 5% ;S | OMR 3 o9& 7 Fo
ﬁ@ﬁsﬂrm%mﬁrﬁaﬁ%ﬁvm,mqa@g,Wmm/maﬂ%ﬂwﬂmﬁﬂﬂmwﬁs@mﬁmﬁwm
A% § | o7 SER & FT ¥ IR-FF A OMR 3R 096 F e 93 @y |, T & et @t X ar afy gy W 3wl & 3naf¥ar sk
OMR 3R 95 gt g folRed a &u Jrder |

3T A AT § S § R T S, Aaise Wi, R o YR A D), Soc, SoRRiieaeh O TOR TeH 39, 94, 9fRge, s, R 3Rk
forar g3 et & o ool e wlietr-dhe; 3 o1 o SY 3N o & 378, A, el 3 Tgeter S ST A AT 8 TP T IMIIOT Tt | BT FEIAT
& ary R o 3wl e odtem-gier I vaer S fear Swwen | odeT-aRT & e R sl & o A Aerse B @ W & A g o
Sooig 3T foRar 7T &, IR Sk & o 58 SAr & 9IR SeolueT AT Swen 3R GeT F 3EH 3iar FRET X & el qer sfasT F o
STy arelr adiam3t F ufRrd @ W o Sfdeer e G STwm | OMR 3 996 W e & fow W3, Ags, o8, e aRel Tar/aIsesR 31 &
JORNST JRaT foRT 3 S A & ggael W 3Rl o OMR 3R 9k fRedt & STeam HR O OMR 3R ek &1 F{edlicheT ofel fehdl STeaT |
fofed qem & fAleror F alefshes & GaR1 & ggel donel & 3HfaRed, CCTV %o, SRidfesh 4 & ]S & fnel o 3ufedfd sawr, wie
HiaeT, AfsTardr 3 SER F g2 IS A § afes wieher 3 Ja o T 3N T 30T & VIS R FS g@0 TaT o & & |

RI&T-hegs & IRGTT I &gt 7 We o INGTT & Taer 7 fordr o 30l & wrder w foar =g R Sream |

URdNETR GaRT YaREaT A1 AR T A 3l % e T gU WS o TAee 3l F R sieem | 3nerl 3R 3Eh e % dee 3k
ugaet # R o v A faEeTfey are St o) 3t o oleT 7 R A A AT & Sieel 3R g e et s v g |

38 OMR 3R-93eh & et gfaal §, aJer fat, 3mier wf v 3n<elf ofd | % &arf 3okt & &Y | OMR 3R 9 & el wfcdr 31 afrelr &
3TCRT-370T el of Y | 30 gdeT TS glef T NUAIR,. FR-IFh diell Tl & 3eeT R oer a7 aiSess @ afT & | 3nrif gfa w1
ARYETR GART 3T Xk 3rg & &F SN | 3l 31y Ay 36 adiaT R B of S Fohl § |

I TR & IR Jhiedsh R 6T T § o & dhael Tk T § | ISP TR & W o Tt OMR 3R 93 7 el 30 Teh el N UT & 3R
& ¥ TORY 39 TEY 3R TS & | TE IR AT G@RT 3UGRY FIT T Shael ool TT ol Sel-Ued T el § | el A oRA & Toiw Afger &
SR S T § | A R SR & e & el @ aer R TR § o 38 SR T FediT A6 [ See |

qeT & g 3R 3w dw e & et Rl o 3nt & e (STaeraeR) # SieT A gl SR & S |

faelr o 3=l B OMR TR ok @rel Bisel & Al @1 § | I FS OMR 3R Tk Wiel IS 15 o IRANETh 30 W "HE" a6l & uad
3T GEAER W &1 3R 39 R "o forw & |

T FTR-THF P ST Folgl o1 Thietdl T F A ST | 3R A el A T HTH I-T76 3 @ Thell ¢ |

THET 3T [IaR0T FAUGAGEH SR-THF 7 T § | 3976 & deond I At ol & |

ST & TE TN T THT AT U & 7 Tl Men/aiel 3 T | g 319 v T 30w el A Frel R § o 3TH 3R P I AT
Seam 3R UF IR F HeAhT T @ |

CORRECT METHOD / 71 7 WRONG METHODS / T 71

o] _lo]c)] OFOO OBROO® OOOO® PO

. TS IS 30Tt 3T AR FT Aol AT A § AT IR T AT § o 3T [AERIGER 36 feeyr Frdarer &, 3N sE ol 38
HaST 7 A& ST arelr et F o IR R ST TeRaT § | 36 favey HIORITE FATET & he 0 gof faRar S HeheT § |
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